
0

25

50

75

E
as

t D
is

pl
ac

em
en

t, 
m

m
 

-6 -4 -2 0 2 4 6

LAND

3 min3 min 10 min10 min 1 hr1 hr 4 hr4 hr 1 day1 day 10 day10 day 3 mon3 mon

τ= 0.2 min Index= 0.88

tr= 13.37 yr ratio- 289775.70

MS_diff= 183.0

0

25

50

75

100

N
or

th
 D

is
pl

ac
em

en
t, 

m
m

-6 -4 -2 0
-6 - Log (t-Teq, yr)

3 min10 min1 hr4 hr1 day10 day3 mon

τ= 8.3 hours Index= 1.01

MS_diff= -0.1

0

25

50

75

100

 
0 2 4 6

6 + Log (Teq-t, yr)

3 min10 min 1 hr 4 hr 1 day 10 day 3 mon

τ= 8.3 hours Index= 1.01
tr= 3.01 yr ratio- 3120.26


